7 ooy U B EH A
SF6sE4H E
HRELE -1 D
GEEHA) EEBRSEGHERFETEZ 6 4 — 4 FHh
(=
BN & (kg/m3)
7K ¥ X NHeR > 1EFnE
175 357 1084 843| 5. 360
RVETRERAVRETADY 6 ARORNE  0.62 %
BMHONaClOE 0.0 %
RFFIFOETAL Y B 0.4 %
A7 Y= ROERAY MIEETNBLTAH Y B ke/n) : R ¢ Re=  2.213
Re= (WAt A bEkg/m’) X (A2 DL T7 A% Y BNalep : %, 100)
a7 Y — MOBRBMMIZEENZLT7LH U Bke/n) : R a Ra= 0. 000
Ra= (BSAZiRFOb Bke/m’) X (BREMTHOLTAH Y & : %,100)
A7) —brHOBEMICEENDILETALH Y E(keg/n’) : R s Rs=  0.000
Rs= (HAATEHHkke/n’) X0.53X (BT ONaCloE : %.,100)
avZ Y — MOBRMANZEENA3L2T7 40 U & (ke/n’) : Rm Rm=  0.021

Rm= (BATBFA Bke/m’) X (BRFIFOLT LD Y& : %, 100)
ﬁﬁﬁﬁ%%ﬂ?é%ﬁm\:V&U~b¢®ﬁﬁﬁﬂﬁﬁihéﬁ7w Rp=  0.000
%V & (kg/m3) : Rp

Rp= (HArFEsh{b&iBke/n®) X (REVLHITOLT A5 Y& : %, 100)
AT V= RDOTAL VBE (kg/m) : R t
Rt=Rc+Ra+Rs+Rm+Rp Rt= 2.23

27 V= bMROTNH VREE RIS S IEI%E 3. 0kg/n’ LT

2.23 Kg/m* < 3. OKg/m® HE ]

Uk




